Fr=t

,\2 ‘% N l\:|:
% & | EERAEEFREE
15 | B - KFIERE (ASH&EASTBHA) Eh
A M |<sf 2 £128 3 B ~ $§f1 3 &£ 3 A 12 H F E H = ———
= il 25 9,362,000 H % 1K il BR {if #& 7,021,500 H
¥ F @ % 9,362,000 H
A L 25 (M) %;L%wﬁgig\
550 R

x % £ 1 @ £ 2 & £ 3 @ £ 4 & = "=
B AE R () 10, 550, 000 #E
] Ei_t%%
TERBEE (#) 10, 500, 000 #E
I TSES 10, 650, 000 R

7 il o AT
(B)BEEE 10, 900, 000 iR

=

EEEER R
(AIRREERX 10, 400, 000 10, 150, 000 9, 800, 000 9, 640, 000 9, 350, 000 | RZE

ﬁr.I —
HHEEY—E X (%) 10, 450, 000 #E

i =

1. EEMRIT. HERRUVHBRAEERZSELL,
2. FEWO TEREL] X, AILSMERBERR. ERINENHXIE,




